TITLE.	FOREIGN LABOR TRENDS						ı					
	OCTOBER 1, 2003 thru SEPTEMBER 30, 20	0.4										
I E KIMI:	OCTOBER 1, 2003 thru SEPTEMBER 30, 20	Page 01	of 01				M D G	14-S				
		BASIS		PRINTING		<u>PROGRA</u> GRAPHICS		GRAPHICS	LITHORI	NDER USA	MCDONA	LD & EUDY
	DEDARTMENT OF LABOR	ļ					<u> </u>					
	DEPARTMENT OF LABOR	OF ALMARD		on, New York		eights, MD	<del></del>	, New Jersey		, Florida		lills, Maryland
_		AWARD	UNIT RATI	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATI	COST	UNIT RATI	COST
I.	PRINTING, BINDING, PACKING,											
(-)	& DISTRIBUTION:	<u> </u>										
(a)	Text Pages Printing in Black Inkper page	e 256	44.00	2 020 00	7.50	4 000 00	42.02	10.064.40	2.50	006.00	0.00	2 204 20
(1)	MAKEREADY/SETUP		11.80	3,020.80		1,920.00	<u></u>	10,964.48	3.50	896.00		2,304.00
(2)	RUNNING/100 COPIES	2732	1.20	3,278.40	0.55	1,502.60	1.12	3,059.84	2.20	6,010.40	0.51	1,393.32
(b)	Covers 1 and 4 Printing in Four Color Proce											
(4)	(Covers 2 and 3 Blank)per complete cov		200.55	2 000 22	450.65	4 500 55	2 222 22	20.000.00	400.00	4 200 22	FF0 65	F F00 00
(1)	MAKEREADY/SETUP	10	380.00	3,800.00			2,008.00		128.00	1,280.00		5,500.00
(2)	RUNNING/100 COPIES	107	14.90	1,594.30	19.00	2,033.00	9.77	1,045.39	11.99	1,282.93	15.00	1,605.00
	CONTRACTOR TOTALS			\$11,693.50		\$9,955.60		\$35,149.71		\$9,469.33		\$10,802.32
	DISCOUNT		1.00%	\$116.94	2.00%	\$199.11	2.00%	\$702.99	0.00%	\$0.00	1.00%	\$108.02
	DISCOUNTED TOTALS			\$11,576.56		\$9,756.49		\$34,446.72		\$9,469.33		\$10,694.30
										AWARDED		
	FOREIGN LABOR TRENDS											
TERM:	OCTOBER 1, 2003 thru SEPTEMBER 30, 20											
		<u>Page 01</u>				<u>PROGRA</u>	M B 6	<u>14-S</u>				
		BASIS	RICHTM	IANS INC.	TAMMS	S LITHO	TPS ENT	ERPRISES	WBC,	INC.	CURRENT	CONTRACTOR
	DEPARTMENT OF LABOR	OF		orth Dakota	Cedarbur	g, Wisconsin	Newto	n, Illinois	d/b/a LIT	THEXCEL		S PRINTING
	PROGRAM B614-S	<b>AWARD</b>	UNIT RATI	COST	UNIT RATE	COST	UNIT RATE	COST	Albuquer	que, New Mex.	Silver	Spring, MD
I.	PRINTING, BINDING, PACKING,											
	& DISTRIBUTION:											
(a)	Text Pages Printing in Black Inkper page	е										
(1)	MAKEREADY/SETUP	256	17.19	4,400.64	16.35	4,185.60	1.60	409.60	10.00	2,560.00	5.00	1,280.00
(2)	RUNNING/100 COPIES	2732	2.60	7,103.20	1.15	3,141.80	0.78	2,130.96	1.50	4,098.00	0.70	1,912.40
(b)	Covers 1 and 4 Printing in Four Color Proce	SS										
	(Covers 2 and 3 Blank)per complete cov	er										
(1)	MAKEREADY/SETUP	10	193.68	1,936.80	352.80	3,528.00	500.00	5,000.00	320.00	3,200.00	15.00	150.00
(2)	RUNNING/100 COPIES	107	44.30	4,740.10	14.70	1,572.90	21.00	2,247.00	10.50	1,123.50	25.00	2,675.00
				· · · · · · · · · · · · · · · · · · ·		······································						
	CONTRACTOR TOTALS			\$18,180.74		\$12,428.30	İ	\$9,787.56		\$10,981.50		\$6,017.40
	DISCOUNT		0.00%	\$0.00	5.00%	\$621.42	1.00%	\$97.88	2.00%	\$219.63	10.00%	\$601.74
	DISCOUNTED TOTALS			\$18,180.74		\$11,806.88	İ	\$9,689.68		\$10,761.87		\$5,415.66

TITLE	Foreign Labor Trends			T T							
	OCTOBER 1, 2002 thru SEPTEMBER 30, 2	003									
ILIXIII	OCTOBER 1, 2002 thru SET TEMBER 30, 2	Page 01 of 01			PPOGP	AM B 6 1	4 - S				
		BASIS		<del> </del>	K O O K	API DUI	<del>. 7 _ J</del>				
	DEPARTMENT OF LABOR	OF									
	PROGRAM B614-S	AWARD UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATI	COST
I	PRINTING, BINDING, PACKING,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		9.11.7		0		011111111111			
	& DISTRIBUTION:										
(a)	Text Pages Printing in Black Ink per pag	1e									
(1)	MAKEREADY/SETUP										
(2)	RUNNING/100 COPIES										
(b)	Covers 1 and 4 Printing in Four Color Proc	ess									
	(Covers 2 and 3 Blank)per complete co	ver									
(1)	MAKEREADY/SETUP										
(2)	RUNNING/100 COPIES										
	CONTRACTOR TOTALS										
	DISCOUNT										
	DISCOUNTED TOTALS										

TITLE	Foreign Labor Trends			T T							
	OCTOBER 1, 2002 thru SEPTEMBER 30, 2	003									
ILIXIII	OCTOBER 1, 2002 thru SET TEMBER 30, 2	Page 01 of 01			PPOGP	AM B 6 1	4 - S				
		BASIS		<del> </del>	K O O K	API DUI	<del>. 7 _ J</del>				
	DEPARTMENT OF LABOR	OF									
	PROGRAM B614-S	AWARD UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATI	COST
I	PRINTING, BINDING, PACKING,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		9.11.7		0		011111111111			
	& DISTRIBUTION:										
(a)	Text Pages Printing in Black Ink per pag	1e									
(1)	MAKEREADY/SETUP										
(2)	RUNNING/100 COPIES										
(b)	Covers 1 and 4 Printing in Four Color Proc	ess									
	(Covers 2 and 3 Blank)per complete co	ver									
(1)	MAKEREADY/SETUP										
(2)	RUNNING/100 COPIES										
	CONTRACTOR TOTALS										
	DISCOUNT										
	DISCOUNTED TOTALS										

TITLE	Foreign Labor Trends			T T							
	OCTOBER 1, 2002 thru SEPTEMBER 30, 2	003									
ILIXIII	OCTOBER 1, 2002 thru SET TEMBER 30, 2	Page 01 of 01			PPOGP	AM B 6 1	4 - S				
		BASIS		<del> </del>	K O O K	API DUI	<del>. 7 _ J</del>				
	DEPARTMENT OF LABOR	OF									
	PROGRAM B614-S	AWARD UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATI	COST
I	PRINTING, BINDING, PACKING,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		9.11.7		0		011111111111			
	& DISTRIBUTION:										
(a)	Text Pages Printing in Black Ink per pag	1e									
(1)	MAKEREADY/SETUP										
(2)	RUNNING/100 COPIES										
(b)	Covers 1 and 4 Printing in Four Color Proc	ess									
	(Covers 2 and 3 Blank)per complete co	ver									
(1)	MAKEREADY/SETUP										
(2)	RUNNING/100 COPIES										
	CONTRACTOR TOTALS										
	DISCOUNT										
	DISCOUNTED TOTALS										